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Work out the perimeter



Sentence Stems:





There are lots of combinations.

For example:



The green shape has the larger surface. 

This means the rectangle has the largest area. 

Surface of the square



Both rectangles can be filled using 6 squares. 

They have the same area. 



The coins are not a sensible choice to find the area as 

they leave gaps on the surface. With the squares, she 

has used different size squares, which makes it difficult 

to describe the area accurately. 



The maths book 

has an area of 9 

squares.

The maths book 

has an area of 

18 squares.

The maths book 

has an area of 

12 squares.








